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OTBeT: 4.




3apaHue 21.
PelunTe ypasHeHue nl\f/ nm , . k, m
x° = (5x—4)° a <_> a
/3{/;6 =25X—4)3 n’\/ a n <=> a N — Hever.

X2 = 5x—4

nji .n
Tx>-5x+4 =0 a <=> a . n - er.
{X1+X2 =5 310 NpuBeaéHHoe kBappaTHoe
ypaBHeHme (CTapLumn
X, X, =4 koacbcbuLmeHT paseH 1).
" = 1 Hangem KopHu no Teopeme Buerta.
=
X,=4

OTBeT: 1; 4.




3apaHue 21

\/31+8«/§.\/4_\/E

Hangunte 3HavyeHune BbipaXXeHus

Ja+415 -
LU e
s M) SR

= Va1 415 = (4 +15)E—V15) = 4 - (15)" =

—J16-15 =1 a’+2ba+b’ =(a+b)*

V314815 =\16 + 2:4- 15+ 15 =\42+2-4- 15+ (/15 = \(4+15)

=|4+15|= 4+15

OTBeT: 1.




3apaHue 21

\/71+12J§_\/6_\/§

Hanante 3HayeHume BblipaXeHud \/6+\/£
@ =a
J71+124/35 =
SRS — 2 =
J6++/35 (a-b)(a+b)=a’—b" |
= J6+/35 - V6 -/35 =/(6+/35)(6-/35) =1/67 = (/35)” =
=/36-35 =1 a2+2ba+b2=(a+b)2“
V71412352136 + 2-6- 35+ 35 =162+ 2-6-\35+ (35 =\(6+35)
/N NMOJIOXUT.
36+35 =|6+\/£|= 6"'\/:%

OTtBerT: 1.




3apaHue 21

Hangunte 3HavyeHune BbipaXXeHus \/25 4+ 4\/5 + \/70 — 14\/5

V254 4421 ++/70=144/21 = 2+ 20+ 7-\20 = 9 (aYl-a
a‘+2ba+b’ =(a+b)? o3

V25+4\21 =4 + 2:2-\21+21 =\22+2: 2. 21+(21)2=V(2+\21)?
MOJ10OXUT.

=|2+21]= 2+421

70-14\21=\49— 2.7 21+ 21 =y72= 2:7-\21+({21)2=(7-21)
MOJ1OXKUT.

=[7-\21]= 7-421

OTBeT: 9.




